		
	+5
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	



		
	-5
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	




		
	x5
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	



		
	÷5
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	




		
	x5
	
	+1
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	



		
	x0.5
	
	-5
	


 
	Input
	Output

	2
	

	10
	

	20
	

	
	12

	
	10

	h
	








		
	+5
	


 
	Input
	Output

	2
	7

	10
	15

	20
	25

	7
	12

	5
	10

	h
	h + 5



		
	-5
	


 
	Input
	Output

	2
	-3

	10
	5

	20
	15

	17
	12

	15
	10

	h
	h - 5




		
	x5
	


 
	Input
	Output

	2
	10

	10
	50

	20
	100

	2.4
	12

	2
	10

	h
	h x 5 = 5h



		
	÷5
	


 
	Input
	Output

	2
	0.4

	10
	2

	20
	4

	60
	12

	50
	10

	h
	h ÷ 5




		
	x5
	
	+1
	


 
	Input
	Output

	2
	11

	10
	51

	20
	101

	2.2
	12

	1.8
	10

	h
	5h + 1



		
	x0.5
	
	-5
	


 
	Input
	Output

	2
	-4

	10
	0

	20
	5

	34
	12

	30
	10

	h
	0.5h - 5





[bookmark: _GoBack]
